SEER — ITERETIER EEXIRER) T B ¥&% % H H
IFEEOOEF" OOILE IEZE ~OE O #£ A H
) B 3 % Hig#
. 5 6 7 8 9 10 11
1= @sn & ﬁ o B . . A A A A A A | Fl i | Z
:FP?) 14,300 % — 1 5IER IR
+| 80 241 150mf R=
l PP ] I e | B &Eiiﬂﬂﬁfl)ﬁiﬁ
* = £ 1,00 18’0(:; 29| 180a . ' THEHGE
" b
§ MsEkJ: DIE#@
B Bt
o | B % 700 | 350nf| 21| 15af el ok b SREORE (LB
= i %m&m%@& %
&
| B |# sk| 210| 260m 6| 5m , 4’555@&3‘50
Elw lmom| s '3’8(:{) 16| 13002 | ‘J'
R ‘ lsa/ —
= B |%g1H 120 8 »77 | 4 - i o »
90 // 20
80 — - 80
@ |0 iwgﬁ - 70
& |60 L C AL — 60
IERATIEER i | 50 Lt 50
Bl e 40
£ 30 Y 30
20 & 20
10 =" 10
0, 'l 0,
% 0 = OA
BEEE (BcTEEAEDRDIZE » tRBENRSNITEAT 5. )
2EWH -2 svb7—s (PERT) KkBIBE 14 B ¥R % A H
EFOOEE  OOLE IER -7 E® ¥k % H H
= VBASE
{
| MEASE mEyz28 1 #% (1) 58
|," 73 Fa : -—-\I p : ’
olBsE VEmoa /“”mgf)?ﬂg i ’ ? Br () 18 :;%FE(H) 2370 b (D)
B 4 RB (DD 784 VAT ! 1
M\ 88 1 3 <)5Eﬁ | ! .
i >® o= | wm5 |
i ' EEMALE Y13 181
iy o ™ |
AN BHBALE i
: ' 3 :/70—I~(I)2EI
g N =2y FALSH
90
80
® 70
& 60
TEReTERE | S| %
24 40—t o 40
£ 30
| B e
10 —— = -
N %c ST U | e P A o%
HEBFE (R IREEDRDICE of, » 3R 6 TR 8 R 98 108 114
 REBEABNEEATE. ) Selwe DY I




